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 S�%H� �%&'
 �#�#	�$  ��!�")FWS (��%�$ D� �T
 �U�%6�<� � ����� ��%�$ 7�6V W!�" ���! 

�
 L�X� 7�6�� P���# O��*# �8�	 �Y4� L���� D� ��� @B�F�Z� @6TF� (HRP) O��[km 27 500 \  

](  J
 Y��%�� �T�
 �^ 	��
 ��	X� ���2� � 1B�� @_� BIS �%&'
 �K
F�� �#�#	�F�� \��%�F�� 

`(   � ���#�M =C< �� ��%�F�� ��!�a�� �#�#	�F�� �%&'X� � �'��H�� �A�'
 ����FT9� ��	X� 	��
 J
  
������� ITU-R F.1668\  

 	(  J
 �G�H�G� b�A� ITU-T �� 1B� 	X� 	��
�� ���2� � 1B���! ���2�  ����%?� �'��H��� �K������������ 
 c?���� d	�6����e @%�F�� 3��F��� ]$����  D��Y���(PDH)N � �������ITU-T M.2100 N ����%?�� ������� d	�6�� 

c?���� ��e 3��F��� @%�F����� ]$����  D��Y(SDH) ����
�  ������� 7�<$f� 	�6�SDH�  �������ITU-T M.2101 N 
�+���� J���� J�������� g9 �����c�� ITU-T G.826� ITU-T G.828L����� h?E \  

� ( J
 ������� ITU-T M.2110 ���� �%&'
� ������� ����X� ���2� � 1B�� @_� ����FT9 7�<$f� ��%�F�� 

 ������� D#	�6��� c?���� ��eJ��! �
 ���2� ��+"
 �C��F� 1����  \�C��F�� 

 �(  J
 b�A��� ITU-R �� F�
 ������� ITU-R F.1660 ��?6��� ��A8X� i�
 D� ��	X� j����!  �#�#	�F�� �K��?�
 ��%�F�� �U�[ ��B�F�Z� ��6TF� �K����� ����� � ���k���� �����l� ��!�a��km 27 500\ 

 -(  J
 j�Fm $���'G� �� F"n� ����FT9 � � � 1B������2 BIS ��%&'o ��!�a���#�#	�F��  ��%�F�� \R��C?< R��"�� 

p(  J
 �"�� j�Fm $���'G� � ����FT9 ���2� � 1B��� BIS ��%&'o ��!�a�� �#�#	�F�� ��%�F�� O<$�� R����
 �+4 

��<�$��� 3 �G�H�K� \�#�#	�F��  

������������ 
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� �
 ������� ��� ����� ������ ���!���  ���������3 "4# �
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q(  O'
 @�C+# J
 jF6� 	��
 ��	X� ���2� ����FTf�� ���!���2� � 1B BIS ����X�� ����%?� PDH �SDH 
7�6V ���! W!�" d�+����� g9 X��%&'  ��!�a���#�#	�F�� \��%�F�� 

P(  O'
 @�C+# ��	
 j���X  ���2� � 1B���BIS (BISPO)J
  �8�� � $�C�EG� R����� R�C<�+� �?�# D� �'��H�� �K8�� 

\R��
G  

r(  O'
 @�C+# J
 �8n� � EG�$�C� j�Fm $���'G� � ��<��� ���2� � 1B��� BISN 

  ���� ��� 

1   @�C+# O'
D� �T
 1#-�� j���
 L���� �Ys?� ��	X� D� ��� 7�6V �
 L�X� 7�6�� P���# W!�" ���!  NO��*#
�%6��#�X� �%&'��!�a��  �#�#	�F�� N��%�F�� J
 ���� 
YQ @%�F�� L���� D� ��
�+�� Z�F�4�\�� h%��� ��� ��YTX�  F��+6��

 ���� D� ��<�<X�(PCE).D� J�At �%6��#�  F��+6�� PCE �������:  

v   L�	 ��� D� @<�<
 FH+E(IPCE) c�Aw c! �
 N@;�0�'� �?! � �#	��
 �Aw� ������� �!��C�� c! 1�# 
 $�CE �?! � c�#	��
) �&
K��1(\ 

v  @<�<
 FH+E D� ��� �%�Z !c D#�?! (ICPCE) 1�# c! c�Ax� c�#	��l� c�$��y� D#�?C?� c�+6��. �!��#� 
FH+6�� ICPCE @%�F�� ���� D� h?EX� �T$��� P��� 7�<$9 O?%z @%�$ �H# c! \D#�?C��  

  ���� 

1  J
 �+��� 	��
 ������� BIS g9 j���
 ��	X� ��6TF�� D� jF[  jF[ g9 (RPO) � �+�C�����4� c1 � 
1 ] N
�+�C�� ��6#-���� g9� �  7��4�2. 

 7��4�1 
 ) �&
K��2( 

�	
 ���
�  ������(RPO) 

PDH ���  ����� ����� ����� 

 

(Mbit/s) SDH  1,5 �
 5 5 <�
  15 15 < �
 55 55 <�
  160 160 <�
  3 500 

������ �	
 �� �	
 
� 

 ���� ��
��� ������(ESR) � 
 ������� ����! ���"�� #�$���

G.826 

0,02 2 0,025 2,5  3,75 0,0375  8 0,08 ���%� $& 

 ���� ��
��� ������(ESR) � 
 ������� ����! ���"�� #�$���

G.828 

0,005 0,005 0,01 0,02 ���%� $& 

 ��'���� ()*�� � +�%,-� ����
)BBER ( #�$��� �SDH 

��! ���"�� ������� ��G.828 

2,5 × 
5-10  2,5 × 

5-10  2,5 × 5-10
  

5 × 5-10
  

5 × 5-10
  

 0%�� 1)2)3 ������ ����
)SESR( 

0,10,001 0,10,001  0,10,001 0,10,001  0,10,001 
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 7��4�1 ]  

 ������ ���
� �	
)PRO ( ������ �	�! "�#$� %SDH��& '* ��& +, ����	��   

�	���  STM-0 STM-1 STM-4 

&�'�/��(�)  64 000 192 000 768 000 

 �+,���ESR)  0�%�"� G.826(  0,0375 0,08 �%+23 45  

 �+,���ESR ) 0�%�"� G.828(  0,01 0,02 �%+23 45  

 �+,���SESR 0,001 0,001 0,001 

 �+,���BBER)  0�%�"� G.826(  �%+23 45  �%+23 45  �%+23 45  

 �+,���BBER)  0�%�"� G.828(  2,5 × 10
�5  

5 × 10
�5  

5 × 10
�5  

 7��4�2 

 -./0����a
n

  

 ������� �	�
�PCE)  �
����3(  �������)% ���� �� RPO��� �� ��� �� ( 

IPCE  

�45�67�� �4�
! #�8�3/�2(��::  

                  d ≤ 100 km 

  1,2 

  100 km < d ≤ 200 km 

  1,4 

  200 km < d ≤ 300 km 

  1,6 

  300 km < d ≤ 400 km 

  1,8 

  400 km < d ≤ 500 km 

  2,0 

   500 km < d ≤ 1 000 km 

  3,0 

  1 000 km < d ≤ 2 500 km 

  4,0 

  2 500 km < d ≤ 5 000 km 

  6,0 

  5 000 km < d ≤ 7 500 km 

  8,0  

                   d > 7 500 km 

  10,0 

ICPCE 

d ≤ 300 km 

  
 0,3 

<!)�� =�>(?� @)�A B�C 
  0,2 

  

2  J
 3�z j�� ��	X� b-��� (APO) j�U�� BISPO �?����� BIS 7�<$f� 	�6� S��� ��%?� h?E �>+�� L����:  

����� 

APOes  =  A %  ×  RPOes  ×  TP  ÷  100  ) �#�MA%�C�' g9 (  

APOses  =  A%  ×  RPOses  ×  TP  ÷  100  ) �#�MA%�C�' g9 (  

APObbe  =  A%  ×  RPObbe  ×  TP  ×  2 000  ÷  100  ) �#�MA%�C�' g9   v VC-1� 2(  

APObbe  =  A%  ×  RPObbe  ×  TP  ×  8 000  ÷  100  ) �#�MA% �C�' g9  v VC-3� 4� VC-4-Xc(  
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���	
� �
�� ����  

APOes  =  A%  ×  RPOes  ×  TP  ÷  100   ) �#�MA%�C�' g9 (  

APOses  =  A%  ×  RPOses  ×  TP  ÷  100   ) �#�MA%�C�' g9 (  

APObbe  =  A%  ×  RPObbe  ×  TP  ×  64 000  ÷  100  ) �#�MA%�C�' g9  – STM-0( 

APObbe  =  A%  ×  RPObbe  ×  TP  ×  192 000  ÷  100  ) �#�MA%�C�' g9  – STM-1( 

APObbe  =  A%  ×  RPObbe  ×  TP  ×  768 000  ÷  100  ) �#�MA%�C�' g9  – STM-4(  

i�
:  

  A%  =  %

1

∑
N

na)  ��%?�(  

    NP
  A%  =  a1%  +  a2%  +  ...  +  aN % 

    an : FH+E �_� 1#-����IPCE� ICPCE���� �_�#   
  A% =  a%7�<$f� 	�6� S���   
  TP : dF�Z)$�C�8G� ��F�Z �
(  

  BISPO  =  APO /Fm  

   i�
FmH�� |��� �� �'��  

3 J
 	�z |��� �'��H�� Fm L���� D� �T
 }#F6� j�U�BISPO :  

 6"'��3 

����� ���	
���Fm  

  #�(��!�� 73�� Fm  

  ����8�� ��9�(�� :"�; <=� >3  
) �?@AB�5( 

 ����CB� 45 ��9�(�� :"�; <=� >3
) ���?@AB�5" 6( 

 D�,E�" ��4,3PDH 

 ��4,3SDH 

2 0,5 

 6���
 �F?(�PDH  

 6���
 �'8� D�,E�SDH 

10 0,5 

  

4 J
  $�C�8G� ��F�Z 	�M(TP)������  X��%&' ��!�a�� �#�#	�F�� ��%�F�� h?E �>+�� L����:  

v  �%6��� dF�Z $�C�8� BIS  �~��24 �E�< ��	X� 3�s��# J
 3Q� N�#�#	�F�� ����X�� ������ �_�  	��>?�
 �!��x�S24 �_� �%?6��A8 ��	
  )1T�$  =>?��1(\ 

v  �C�+��! g9 ������ ����X�� ��e ��	X� P��
 c! $�Hx� ��	X� S1 � S2 ��+"
 � dF�Z $�C�8G� d��%�� 24 �E�< 
���� $�F%�<�! 3��F� ��+"
 �������) 1� �C��F� ��+"
 ���2� ((ISM)N �8n� dF�Z $�C�8� BIS d	��  g97 \��#
 

v  �C�+��! g9 ������ ����X�� ��e ��	X� P��
 c! d$�Hx� ��	X� S1 �S2 � ��+"
 dF�Z $�C�8G�  D�24 �E�< ��� 

�C��F�� ������� ��+"
) ]��� �C��F��ISM (N 	�z 7�C� W�n� �
 d	�E9 $�C�8G� BIS �A#F� ��*�G� c! \j�F[X�  
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v  �C�+��! g9 ������ ����X�� �#�#	�F�� d�#�4� ?Eh �F[ G �T�� �0�Z ����� �
 ����
 �#�#	�$ ��+"
� ��F�Z  D�
�� $���'G� j�Fm N����n�� �%6��� dF�Z $�C�8� BIS d	�� 3�s��# J
 3Q� N��#
 �6C< g9 j�0?� ��	X� BISPO 

]��x� �%?6� �_��A8 ��	
 \ 

5  J
 D%��#  =>?��1 ��	��$9 ��Z�B9 ����*�� DE 	��
 �������BIS N  ]��
 ��s0+�� $�C�8G� ����FT9�
 j���X�BISPO��	��
� . 

 �
����1 – ��� G  �������ITU-T M.2101 H��8� �I��+�� ���"'�� �2J�" ���"'K�. 

 �
����2 L �%� MN� <O P��� 'NI >3 ��'N+�� ���"C,3 Q�F!� ��R� S�T U�R+V �%,�3 �3 ��W���� X�Y� 	'N+I �+,���I �
 4,B� Z"'��.  

�
���� 3 L <[\  6��]^�d��9B�  �_��
 G  6"'��26�]  P��2�� `N8a�� ���,B� "� �!+�� bc MN� &�V�+B� �I"�d3 <3�8I 4�,�  #����3Rf .
�3� �F�� PN8�� D�,EeI �'8� #6���f� A� 49� 6�2�� d �
 �
 ���,B� ��N8a�� )�=��  �������ITU-T M.2100:(  

7��4� 4  

 �	�
 ���
PCE������ ���� �����   

 ���� ����PCE  �
���� ��	�)RF(   ���PCE�����   

d < 1 000 km 1,5  1,5 × d km 

1 000 km ≤ d < 1 200 km 

1 500/d 1 500 km 

d ≥ 1 200 km 

1,25 1,25 × d km  

 �
����4 –>Rh  :�'�^� D�'i��� PRO ��4,FN� Z"^� 6'8FN� �8+�B� PDH <F8�,� ��� jNk9B� &�'8�3 ���"'�� �A����I PN8�� �F�� 
 �8=��B� ������� �,@ �FF!3 ��l�_mITU-T G.826. 

 �
����5 L >Rh �� HN�n ����� :"�; ��9�(�� ����8�� 45" ����CB� >3 'NI �
 #�co >3" p `k+�� ���8B� :��]q� �� r�a�� �
 <���� 6�@ 

s�t�B�.  

� �
���6 L u��=f� �� '�'v w �x
 BIS D"'�� X �_V^� >3 3)���8B� :��]^� jI 6��+�3 r�a��I" ��'%� M!EeO �_V�  ( &��a�� '8I "� <+E
 �F�%�� 6�F8��� >Rh #����C3 45 ��9�(�� :"�; �_�� ��R� ���1 = Fm���8B� :��]^� jI 6��+�3 r�a�� ��]
 G . 

 �����1 

���	 
���� �
�����  �
�����BIS 

1  ������� ��	
� � �
��� ������BIS   

jF6� �������ITU-T M.2110 ����X�� ������ ������ ���2� � 1B��� $�C�8� ����FT9   7�<$f� �%&'
�PDH 
������� ����X�� SDHN �V � ��e ��#F[ �4�6� ��E dF�Z �#
 F��� $�C�8G� ��+"
 .D_�� CA� h?E ����FTf� ��� =�

���#�#	�F�� ���� ��!�a�� �0����
� �%&'
� �U�<$9 ��%�F�� ��+"
 ��F�Z $���'G� P	�6��. 
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G9 O'
 @�C+# J
 �%6��� ����FT9 $�C�8G� BIS �0?
�F�� ������� �e9 �#$
 J
 �8n� �  $���'G� ��F�Z� $���'G� $�"� $�C�EG�
��� ����n�� �� D_� J
 F"n� � ��	
 X��%&'  �#�#	�F�� ��!�a��S���� ����FT9 $�C�8G� g9 c�?
F� c�?H*+� ���: 

v  dF�Z $�C�8�  ��;���!�)15 ����	(N FZ�� ��	X L�X� ��C"f� ��&+�� 1B�2� P�#	�F�� $�C�8K�. 

v  ��$�C�8� ���2� � 1B���BIS h?E  7�[ dF�*��TP N R��Z� ��&+?� P�#	�F�� �1B�2 $�C�8K� )1T�$ �+C�� ���� 4.(  

1.1  ����� 	������ �������� ) �!"�#�1( 

3Q J
 S�� ��<�����  ��;���!G��dF�* ,�6�� 15 ����	 �%6���� -�0T ���� 1� 1!��� ���! S�F� OC�  @;���E(PRBS).  

3Q� G
 J�_� r�+� ��A8
 �
 ���

 ��E F��� ��+"
 ��� dF�*��  d��%��15 ����	 .�e9� �
�� P
 �A8 �
 P
 ��
 ��E 

NF��� 3Q }���� $�C�8G� �$�F_��.D_��  $�F_� $�C�8G� c�F� @;���!G�.�e9�  1�� ��+"
 $�C�8G� i��a�� )�8X��(  �� �A8
�
 ��
 ��E 3Q NF��� J
 3>�# ��&+�� P�#	�F�� D� $�C�8G� $�H#� g9 �#�M 1��� 3A6�� O>�?H��. 

h��#� ��FT�! ��$�C�8G�  ��;���!G�)15 ����	 (��+"
 $�0+�� D� dF�Z J�_# �0�Z $���'G� �� Nj�� J�_�� �0�Z  j�Fm
� ����n�� �� $���'G� �l� �	X� )��� d	�E ��� dF�*�� c! �E����10:00 �E����� 14:00 W������!  @?x�.( 

2.1  ����� 	������  �������) �!"�#�2( 

�6! p��  �?
F��1 )��FT9 $�C�8G� @;���!G�(=CA# N $�C�8� ��� dF�Z 24�E�<  .���� D_�� �e9 �����
 ��F
  �C��F�� �F���
��+"
  ���2�(ISM)��  O'
 � ���
 ��E F��� �C��F��ISM N PFQ $�C�8G� � �*' q�F� $�C�8G� @;���!G� )P
 �A<��! 

-�0T ����(. 

J$���� /;��' ��<����� 	��� ������� S1 BIS �S2N ��e� � �#��  d��%�� dF�*��24 �E�< )1T�$  c�F�*��2 �3.(  

�e9� 1�� P
 ��
 ��E F��� ��+"
 $�C�8� 1B��� � ���2� BISN 3Q i>C�� DE 3C��� � ��e d	�E9� ����T $�C�8�BIS  
�#�T .�e9� 1�� ��
 ��E F��� F8� � ��" $�C�8� BISN 3Q J
 =?6# $�C�8G� g9 J
 cC�# 3C< ��
 ��E F�����.  

3Q� J
 �s�� �s��' �� ��$�C�8G� BIS �C����� � R�6TF� �U�%6�<G. 

2  ������ ���� ��	� ����  ��	
� � �
���BIS  

1C�� �
�F�� ������� 7�H>?� h?E ��	
 	��
 ����:  

v  jF6��� g9 7�6� ���C�� � ����. 

v  F�d�� j���X� RPO �?!���� 7�6� ���C�� 3<�+�� �  7��4�1  �
 
1 �A8 ��	
 �%?6� �_� ].  

v  jF6��� g9 �� F��+6�� PCE ��%?� N���_�� W�Ca��= N  	�6��  @?_�� ���� D� ����;F�� F��+6?�(PCE) .  

v  jF6��� g9 7�A��d N �_� FH+E PCE.n )= n 1 g9(N J�_#�  7�A�� d 7�[ ���� @?6*�� �
 D_� �F#��� ���� 

7�[ ��� dF;���� h%&6�� c! �A�' jFA�� ���E � ������ 3<�+�� Rf )1T�$  �&
K��3 �KE
.(  

v  �#�M 1#-����%an D�   7��4�2 )�C�+� �#��� j�0?� RPO D� jF[ g9 jF[( D� �T
1 = n) PCE.n g9 .(N  
$��� f�d$�� g9 J
 ��6#-���� �  7��4�2 @� S�� N,�H� D_�� J
 �%6��� S�� Fa�
 ���F� �E ����*�� ��;�+" 

jFA�� �
 d	�6�� j�F[X�.  
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v  N]��
 1#-�� ���� %AN i�
:  

A%  =  an

N

%

1

∑  

v  �#�M dF�Z $�C�8G� (TP) R��Z� �+C?� ���� 4 )24 �E�<  �
7 ��#
.(  

  �6# DE dF�*�� TP N���a��! �NRKa s 86 400 = TP D� �T
 d��%�� $�C�8G� dF�Z 24 �E�< � s 604 800 = TPD� �T
 

d��%�� $�C�8G� dF�Z 7 ��#
. 

v  ]��
 j���X� APO D� �T
 S�� ES � SESN�!�?A�� R��Z� ����?6%?� �6�%y� R��!�<: 

) �#�MA%�C�' g9 ( APO  =  A%  ×  RPO%  ×  TP  ÷  100  

v  ]��
 X�j��� BISPO ���2� ����!:  

BISPO  =  APO /Fm 

  i�
 Fm �� |��� �'��H�� )1T�$ �+C�� ���� 3.( 

v  ]��
 �S� S1 � S2�_� D� �[�8 ��	
 �%?6� �T
 dF�Z  d��%�� $�C�8G�24 �E�<:  

S1  =  BISPO  –  2  × BISPO  

S2  =  BISPO  +  2  × BISPO  

  �� �� S�� S1 � S2g9 ]F�
 �%�� \�>�>�  

 	��l� J�_�BBE S 	��l� P���� ���+E �#F*� �� �G�l� 56! � ES �l�� �� J�_� �
 R�F*� )7�a�:  D%�� G
 �C�'%95 j���X� =��M BISPO�#�A�� ,��� h?E  ( 	��l� J�_� ���+E 7�[
 $�C�8� 7�%6�<� R���%E pF��#�ES �� 
�l�� .�� $�C�8G� �C�# G 7��
X� 1�I BBE D� Fa�
 r�+� J�� �e9 ES 1.  

$��� d$��f� g9 J
 P
 ���� � FH+E PCE D� ���� �F*# J
 $F_� ��?%E ]��l� �?��_�� JX S�� S1 � S2@� S�� 

G ��A8.  

D_�� J
 �%6��# ��FT9  7�<$f� 	�6� ����X �"��SDH 7�<$f� �%&'
� PDH D_��  $���8� 3QFmR��Z�  

�+C?� ���� 4.  

3  ��	� ��	
� � �
��� BIS �!��"� 

�F6�  ��F�*��1.3 �2.3 �3.3  �_����1 ��'	
 F#����� �H*��  $�C�8G� /;��+�BISP���  	��
 �%6��#  ��	X�S1� S2 
�!��x� ��s0+��! d	$���� �  dF�*��2.  
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 �_���1  
 

1330-01 

S 2 

D 

D 

S 1 

BISPO D  = 2  × 

���� ����	 
� �
��� �� �� 

����� ���	
 ����
� �� ����� ���	
 ����
� ����

 ����� � ���BIS ���� 
 �����!� "#�$ �%&�' ��(�'�)

 *+ ",�
-�7.�	�  

 /�01+BIS 

���� ����	 
� �
�2

3��45� ,�6 

BISPO 
  �7-� ���	 
� �89

 �����!� ,�:	 
� �� ;7�<� ��
 =>�?@ A�BC� *+ �DE�<� F#G

��#H5� ,�:�� �� �#I<�

  ����� � ��	
�BIS 
��
��� �	��� 

�	��� ���
� �� ����
 �����
 ����� 

 

 

 

1.3  $%& '���� *��+
$ �, �-$ ���.� / �0�0
�	 ��+��� ��12
 ���.� )3$
 ���.� ��12
 ��+���( 

3Q J
 �*+� ��?
F� ��FT9  $�C�8G�BISN j����� �KE
 �A<��! -�0T ����. �+E� ��0�'� �?
F�  $�C�8G�2N h�C� 

����#$�+���� ������� �+_�: 

v  �e9 W'��  �A8 ��%�?6�F��
 D� ��S S1 �U �?!���� �
 �#���� N�U �C�# ���� �
 S���� P�#	�F�� �CH#� R�Y��T 

\���k?�  

v  �e9 W'�� ��	
 �A8 �%�?6� P
 )�
 �06�I( ��
 D� S�� S2 �?!���� �
 �U �#���� N�U 5ZF# ���� �
 S���� NP�#	�F�� 


�C�� ����FT9 �#�M 1��� 3A6�� \�C<�+��  

v  �e9 W'��� P
  ��	
 �A8 �%�?6)�06�I �
 (��
 D� S�� S1 �?!���� N�U D_� �06�I F��
 D� S�� S2 �?!���� N�U D_� 

J
 �C�# R���n� ���� �
 S���� NP�#	�F�� �
 	�6# N�$�C�8� qF� ������ g9 ��*�� @;�+" jFA�� �
 	�6�� j�F[X�.  

2.3  %&$ '���� *��+
$ �0�0
�	 �4 �-$ ���.� /5+� 	��6�7�� ��12
 ���.� )%� ���.� ��12
 ��+���(  

3Q J
 �*+� ��?
F� ��FT9 $�C�8G� BIS j����� �KE
 �  c�F�*��1.1 �2.1.�+E�  ��0�'� �?
F�  $�C�8G�2N h�C� 

����#$�+���� ������� �+_�:  

v  �e9 W'�� ��	X� �A8 ��%�?6� S�� F��
 D� S�� S1 �U �?!���� �
 ����#� N�U �C�# ���� �
 S���� P�#	�F�� �CH#� 

R�Y��T \���k?�  
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v  �e9 W'�� ��	
 �A8 �%?6� P
 ) �
�06�I(��
  D� S�� S2 �U �?!���� �
 �#���� N�U 5ZF# ���� �
 S���� P�#	�F�� 

����FT9 
�C�� �#�M 1��� 3A6�� \�C<�+��  

v  �e9 W'�� ��	
 �A8 �%�?6� P
 ) �
�06�I(��
  D� S�� S1 �?!���� N�U �0+_�� F��
 D� S�� S2 �?!���� N�U D_� J
 

�C�# R���n� ���� �
 S���� P�#	�F�� $�&�'�! �s��' dF�Z  g9 d	�%�� ���2� � 1B��� $�C�8�7 ��#
.  

3.3  8�$ ���.� / %&��� 	����� 
�6#�  9�7 *�0
 

=CA# ���2� � 1B��� $�C�8� 	�%��  g97 ��#
 h?E ������ �
 ����X� �#�#	�F�� �������:  

v  ������ �
 ����X� �?���� � j�Fm $���'� �#	�E 1� �C��F� ���2� ��+"
 dF���� ���� �F0m
 ���	
 R������ � 
$�C�8G�  ��%��24N�E�<  P
 �e9 W'�� ��	
 �A8 �%�?6� P
 )�
�06�I (��
  D� S�� S1 �?!���� N�U D_� �06�I 

F��
 D�  S��S2�?!����  \�U  

v  ������ �
 ����X� h?E �F[ d�#�T G �T�� �0�?E ����� �
 ����
 �#�#	�$ ��+"
� ��F�Z D� j�Fm $���'� �� 

����n�.  

���+E S�#  g9 	�%�� ���2� � 1B��� $�C�8�7 N��#
 3Q J
 �%�� dF�Z $�C�8� �6C��� ��#
 � dF�*�� d��%�� g�X� ��+�Y�
24  �E�<) �?
F��2 .(3Q� J
 N�%6��� � ���
 j�Fm $���'G� �� N����n�� dF�Z $�C�8� d��� 7 ��#
 �_� ������ �#�#	�F�� 

�6B�2� ���2� � 1B��� $�C�8G.  

3Q� �+E ��0�'� dF�Z $�C�8G� N��� 3Q  j���X� ������ �s��' -��s�� G
BISPO�*�  dF7 ��#F[ ��	�M �%� ��#
 
]��l�  dF�*�� � d	$����2 .�^� J���#$�+�< J�+_� �� J�������:  

v  �e9 W'�� S�� ��	X� �A8 ��%�?6� F��
 D� j���X� �?!���� BISPO  dF�*�7 ��#
 �
 �#���� N�U �C�# ���� 

P�#	�F�� �CH#� R�Y��T ���k?�.  

v  �e9   -���  j���X� BISPO ����C�� $�C�8G� dF�Z 7K8 ��	X� �A8 ��%�?6�7 ��#
�#	�E $���'� j�Fm � 5ZF# N 

���� P�#	�F�� �#�M ����FT9 
�C�� 1��� 3A6�� �C<�+��  

  ���� 5ZF# Nde�� j�Fm �#
 }�� ��E ���
 �.  
 ������ ���� ���� �  �	��
�� ��

��� ��
� ��� ����� ��� ������� !"#7 $%&' ("� )��
*�� ��+,- � .'�� /� �01� 2"� /&�� )3�4- 

 �"��
�� �5
�6� ��

��� ��
� ����
7� /&8 )�"'�9� :; ��<
=�� >��?7 @A�B+�� ���C�� DE- /� �"+�6� >��F�� .G ���

� H�*'� ��FI � )3�4- 
��5J�� K�LM�E !NC�� �- :N6� $�1 �OI �� 545P
�.  

¡¡¡¡¡¡¡¡  
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